C@GeoCefTtified, LI

16221 LEO CIRCLE
LEAVENWORTH, KS 66048
913 544 7527

KEVIN BAILEY
COMPANY: Prairie Fire Petroleum : Doug Frickey KS#34418
WELL: Dane G. Hansen Foundation #1-15
FIELD: Wildcat UnNamed COUNTY: Norton  STATE: Kansas

LOCATION:_ 545' FNL, 2090' FWL or NW/4 15-2S-21W

K.B: 2197

Interval Logged: 2500 To: 3875 G.L.: 2192
Date Logged: _4/10/2016 To: _4/14/2016 Spud Date: _4/08/2016
Rig: White Knight Drilling KS#34743 Unit No.: #1

Loggers: GEMINI Wireline

Api No.: 15-137-20737--00-00
Filename: prfrdhnsntrst1-15.mlw
Geologist: _Kevin Bailey

Created By MainLog

Abbreviations: Lithology Symbols:
NB...New Bit DST...Drill Stem Test ZZ] Anhydrite EEEER salt IBERRl Granite
CO...Circ Out DS...Directional Survey E Siltstone Chert E Sandstone
NR...No Returns CG...Connection gas EZ=Z3 polomite conglomerat{QIIIIN Limestone
TG...Trip Gas LAT...Logged After Trip I coa E==] shale === Bentonite
WOB...Wt on Bit PP...Pump Pressure == carb Shale JEEIl Granite Wash@ Quartz Wash
RPM...Rev/Min SPM...Strokes/Min =] Redsh = orgsh === Greensh
SG...Survey Gas DTG...Down Time Gas custsh1 [E===] cust sh2 E=—] custsh3

Cust Sha Cust Sh5 Cust Sh6
Accessories

Mud Data—mM —
WT..Weight V..Viscosity

Gas Chromatograph Analysis:

HW - -
C1

Cc2

C3 ===
IC4

NC4

IC5

PH..Acidity E. Filtrate =] Glauconite [p_p] Pyrite Fossils [C@_@] Oolites
CHL..Chlorides SC..Solids Content [ @] Fractures [ 98] Cement
Vis %
Por Oil |Cut
Flu
Drilling Rate Tr{) Lithology | Tr/|Tr/ Descriptions/Remarks Total Gas/Chromatograph
MIN/FT gfl p f g| pfg
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